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1. A customer is upgrading to a Communication Server 1000E RIs. 5.0. Which hardware components also
provide DSP services? (Choose two.)

A. 32-port DSP Daughterboard

B. 96-port DSP Daughterboard

C. 128-port DSP Daughterboard

D. Media Gateway Controller card (MC32B)

Answer: AB

2. A customer has upgraded from a Communication Server (CS) 1000S to a CS 1000E Standard
Availability (SA). Due to their projected company and network growth, they are contemplating upgrading
to a CS 1000E High Availability (HA) system. Which component(s) differentiate a HA system from a SA
system?

A. a second CP-PM

B. enabling the HA software package

C. a second CP-PM and a CP-PM Call Server

D. a second CP-PM and enabling the HA software package

Answer: D

3. A customer is upgrading to a Communication Server 1000E Rls. 5.0. To take advantage of features
supported by the Enterprise Common Manager (ECM) framework, which systems can be deployed as the
ECM? (Choose two.)

A. VxWorks Operating System and ISP 1100

B. Linux Operating System and IBM x306m

C. Linux Operating System and HP DL 320

D. VxWorks Operating System and HP DL 320

E. VxWorks Operating System and IBM x306m

Answer: BC

4. A customer is upgrading a Communication Server 1000S to a Communication Server 1000E RIs. 5.0.

Which hardware component replaces the Media Gateway 1000S controller card?
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A. DSP Daughterboard

B. Media Card 32 Port Security
C. No hardware change required.
D. Media Gateway Controller card
E. Call Processor Pentium Mobile

Answer: D

5. A customer is upgrading to Communication Server 1000E RIs. 5.0 and needs additional temporary IP
User Licenses for controlled load sharing between two systems.

Which statement is true regarding the licenses to be ordered and the use of additional IP User Licenses?
A. No additional licenses need to be ordered. If the customer runs out of IP User Licenses for the 1150E,
they can use the Basic IP User Licenses.

B. Basic IP User Licenses must be ordered. Regular IP Licenses will be used if the temporary license
count is exceeded.

C. Regular IP User Licenses must be ordered. Basic IP User Licenses will be used if the temporary
license count is exceeded.

D. Temporary User Licenses should be ordered. Basic IP or Regular IP User Licenses will be used if the
temporary license count is exceeded.

Answer: D
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